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SECTION A: PHYSICAL SCIENCE

Answer at least TWO questions from this section,

Giventhat £y =4 —1 and Z7 =2+ 51, find: % giving vour answer in the form re’ .
{8 marks)

{i) Use the Taylor’s theorem to expand S:'ﬂ{-'} +.’1} in ascending powers of k as
far as the term ',

(i)  Use your results in b (i) to find the value of Sin 46 to four decimal places.

(12 marks)
Ll p Armnict
(i) y = log. { Sinz’}. L7 Lo S H}
s r D3 DEC 2815 )= (4 marks)
- {:!'1_|.I '1\"\-\. T
(i) y= T
(5 ruarks)
Find the general solution of the differential equation:
da* i
i_ru'é!_z.%_aL.:?i (11 marks)
o ‘ : = {1
Given the function f{r,y) = tan {E:I
Show that:
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{7 marks)
Salve the hyperbolic equation:
200sh r+Sinhr=2 (8 marks}
Find the integral
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